ANSWERS- VOLUME 2: EQUILIBRIUM
Chapter 3, Cross-Sectional Properties problem 3.21,1-3, page 140

Remarks: See 83.2.2, pages 98 till 100
See §3.2.4, example 7, pages 114 till 115

Answers 3.21-1: Explanation 3.21-1:  (lengths in mm)
a. |, =432x10° mm* 1y ={&%60x12° +720x12%} + {4 x12x 60° + 720127
b. I,, =-311,04x10° mm* l,, =—2x{720x18x12}
Answers 3.21-2: Explanation 3.21-2:  (lengths in mm)
a. lyy =276,48x10° mm* |y ={&x60x12° + 720x6° | + {2 x12x 60° + 720x 67
b. 1,, =155,52x10° mm* l,, =2x{720x18x6}
Answers 3.21-3: Explanation 3.21-3:  (lengths in mm)
3 4
a. Iy, =1062,72>10" mm I,y = 2x{%x60x12° + 720x 24} + £ x12x60°)
b. 1y, =0 l,, =0 Due to symmetry
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